
Solving a Rational Equation - Example 3

Example: Solve the equation:

7x + 2 = 30
Like Example 1 we can turn this into a polynomial problem.

We want to multiply 12
x+2 by (x + 2) and −5

x+1 by (x + 1)
To find what to multiply 30

x2+3x+2 by we Factor

x2 + 3x + 2 = (x + 2)(x + 1)
So, we will multiply both sides by (x + 2)(x + 1), which can be
distributed to each term
Now we can reduce our fractions on each side.
All that is left to do is solve: 7x + 2 = 30
Which we can do by Subtracting 2 to get: 7x = 28
And Dividing by 7 to get: x = 4
Conclusion: The solution to 12

x+2 + −5
x+1 = 30

x2+3x+2 is: x = 4
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